SH4E6A58(R)
g K £ 7ok 4 > b—%)L | HDCP Fybk KAk
B B BE OEF 41 39 80 18.0 62.0 500
EB HLE =mER 45 41 86 23.0 63.0 400
33 hE & 41 36 77 12.0 65.0 300
afi A Bih 40 38 78 13.0 65.0 200
5431 TRl ZA) 42 34 76 10.0 66.0 100
64z BRIl B 45 42 87 21.0 66.0
74z =K = 44 42 86 20.0 66.0 90
813 e HF 49 50 99 33.0 66.0
ofiz MHE & 43 44 87 20.0 67.0
104z % 43 45 88 21.0 67.0 75
1141 A thia 38 39 77 9.0 68.0
12431 Rk EH 45 45 90 22.0 68.0
134 mE ZiE 43 54 97 29.0 68.0
1441 £F F*H 52 47 99 30.0 69.0
154 A 39 38 77 7.0 70.0
164z = EE 38 42 80 10.0 70.0
1741 A Eh 37 35 72 1.0 71.0
184 BH 45 37 82 11.0 71.0
191 ZER ILEA 48 39 87 16.0 71.0
20£L R 45 40 85 14.0 71.0 75
21431 A <43 45 41 86 15.0 71.0
2241 4H EX 43 42 85 14.0 71.0
2341 AN RE 41 43 84 13.0 71.0
2441 £B2 EN 43 39 82 10.0 72.0
2541 AR KR 40 42 82 10.0 72.0
2641 NI 45 43 88 16.0 72.0
2741 Bl RE 43 45 88 16.0 72.0
2841 EH O —HR 46 46 92 20.0 72.0
2941 Ak RE 43 48 91 19.0 72.0
3011z B OETF 50 53 103 31.0 72.0 75
3141 M BRAER 42 38 80 7.0 73.0
3241 ®kik F3 39 40 79 6.0 73.0
3341z mAR E£ 37 40 77 4.0 73.0
3441 Bl EE 43 42 85 12.0 73.0
3541 BE EBR 48 42 90 17.0 73.0
3641 EE =M 41 43 84 11.0 73.0
374 ik S8 38 44 82 9.0 73.0
384 BX EC 42 47 89 16.0 73.0
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391 (1T} S 37 40 77 3.0 74.0
401z Fa@ RA 46 41 87 13.0 74.0 75
4141 =H EE 41 41 82 8.0 74.0
4241 Al E#H 46 43 89 15.0 74.0
43(1 FH BE 42 43 85 11.0 74.0
444 iz g 45 43 88 14.0 74.0
454 B RE 40 44 84 10.0 74.0
4611 BH EFE 43 44 87 13.0 74.0
4741 HE AL 44 45 89 15.0 74.0
4841 EB7A #Bif 49 46 95 21.0 74.0
4941 [LE 1EB 46 46 92 18.0 74.0
501z HIS  IE 41 47 88 14.0 74.0 75
5143 EH #0% 50 47 97 23.0 74.0
52{iL x5 ®E 46 47 93 19.0 74.0
5341 Rifi 2 48 47 95 21.0 74.0
5441 hE ER 41 39 80 5.0 75.0
5541 XE EE 41 40 81 6.0 75.0
5641 iR B— 44 40 84 9.0 75.0
5741 Rz &k 44 42 86 11.0 75.0
581{i fmk —Al 44 42 86 11.0 75.0
594 T & 48 43 91 16.0 75.0
601i FE B 43 43 86 11.0 75.0 75
6141 =3I O 43 44 87 12.0 75.0
6213z Hl 2% 54 44 98 23.0 75.0
631 R’ RIA 53 45 98 23.0 75.0
6443z BIE #— 46 45 91 16.0 75.0
6541 a5 =¥ 43 45 88 13.0 75.0
6641 Tk R 43 45 88 13.0 75.0
6741 Iz B=E 40 47 87 12.0 75.0
6814z EE FFH 50 47 97 22.0 75.0
694L EiE R 44 47 91 16.0 75.0
704 Bl EF 55 49 104 29.0 75.0 75
7141 wE BT 58 57 115 40.0 75.0
7241 Ei Rt 47 39 86 10.0 76.0
734 ZR E=a 50 40 90 14.0 76.0
7431 Bl EZ 50 42 92 16.0 76.0
75431 HE f— 52 53 105 29.0 76.0
7641 £ Bt 49 41 90 13.0 77.0
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7741 FIER  FETE 45 42 87 10.0 77.0
78431 FR - 46 42 88 11.0 77.0
79431 KE & 44 43 87 10.0 77.0
801i By —E 45 43 88 11.0 77.0 75
8141 AH 1E 48 44 92 15.0 77.0
82f1 = it 46 45 91 14.0 77.0
83fL RE —X 45 45 90 13.0 77.0
8441 NI EZ 46 50 96 19.0 77.0
8511 FiF # 46 53 99 22.0 77.0
8611 R B 48 57 105 28.0 77.0
8741 RIR  #E 46 42 88 10.0 78.0
884 Rk #BE 45 46 91 13.0 78.0
891 FEH BAX 40 46 86 8.0 78.0
901 2l X 47 47 94 16.0 78.0 75
9141 AH {ER 41 48 89 11.0 78.0
92{if mE BEE 51 49 100 22.0 78.0
9341z mME  BA 49 49 98 20.0 78.0
9441 il F 46 49 95 17.0 78.0
9541 &% 40 53 93 15.0 78.0
961z FNl EE 47 57 104 26.0 78.0
9741 KiE #E 44 45 89 10.0 79.0
984 ZE RE 56 48 104 25.0 79.0
99 [iiE I P S 43 49 92 13.0 79.0
1001iz A EA 48 49 97 18.0 79.0 75
10141 Bk AR 44 43 87 7.0 80.0
1024iz FER LT 49 43 92 12.0 80.0
1034i A B 48 44 92 12.0 80.0
10443z TE B 52 44 96 16.0 80.0
10543z LA A 44 45 89 9.0 80.0
1064iz 'Kk B— 49 46 95 15.0 80.0
10741 RKAR #EA 44 46 90 10.0 80.0
1081z ¥ BE 44 47 91 11.0 80.0
10941 ESA- YN 52 50 102 22.0 80.0
1104z Mg F— 46 51 97 17.0 80.0 75
1114 BEH {*iE 46 43 89 8.0 81.0
11241 #Xx —Ik 47 44 91 10.0 81.0
11341 EE wnY 50 49 99 18.0 81.0
11443 =@ At 47 49 96 15.0 81.0
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1154 FH Rt 46 49 95 14.0 81.0

1164 £k Bz 49 50 99 18.0 81.0

1174 wmI E 53 54 107 26.0 81.0

1184 -7 G 46 a7 93 11.0 82.0

1194z £k B 52 45 97 14.0 83.0

1201z AR BE 52 45 97 14.0 83.0 75
12141 B EA 47 46 93 10.0 83.0

1224 RER A 50 46 96 13.0 83.0

123 AR B 48 49 97 14.0 83.0

1244 HH % 48 49 97 14.0 83.0

12541 BRE KX 42 51 93 10.0 83.0

1264i NI E— 51 53 104 20.0 84.0

12741 BmAR FH 46 49 95 10.0 85.0

12841 ik & 56 51 107 22.0 85.0

12941 Xx#H F=E 50 54 104 18.0 86.0

1301z KHE 5h 57 56 113 27.0 86.0 75
1314 & OEX 51 47 98 10.0 88.0

1324iz EH —R 50 49 99 11.0 88.0

1331iz BHE O HZ 60 54 114 26.0 88.0

1344 (ITE 5 57 54 111 23.0 88.0

1354iz =% Bt 54 56 110 22.0 88.0

1364 2% M 50 51 101 12.0 89.0

13741 F R 53 47 100 10.0 90.0

1381i #MHE H# 47 56 103 13.0 90.0

BBE I F 59 59 118 25.0 93.0 120
1404z R FHE 62 52 114 15.0 99.0
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